DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

DIVISION WITH 5 Name:
Time: Score: A

5 —27090 = 5 = 16)  —46045 + 5 =
32) —2894.5 +5 = Mo 405+ 5 =

3 —27835 + 5 = ) —0825 + 5 =
) —48050 + b = O =177 +5 =
35 —46150 = 5 = 500 —120.8 =5 =
5 —1025.5 =5 = 5 —439.5 +5 =
5 —46750 = 5 = 2 2820 +5 =

) —287.2+5 = W =370 +5=
39) —3783 = 5 = ) —5150 + 5 =
0 —113.35+5 = » - —=35450 + 5 =
i —3310 =5 = 560 —30935 + 5 =
1) —166.6 5 = 57 —452.5 =5 =
13) —46070 =5 = 58) —2011.5 =5 =
1) —926820 = 5 = 59) —2837.0 =5 =
1) —2469.5 -5 = 60) —28655 + 5 =

Mathematics: Division - Level 6 - Horizontal - Set 2
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